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O 57 weeT A & wEr S« gfafer oo

Problem figure:
Answer figures:
d 2 4 4
>
A B C D

Problem Figure - 927 =%

Answer Figures - 3caR 3epfaar
Choose the correct water image of the problem figure.

Problem figure;
Answer figures:
Fr 'i." @
A R K
A B C D
Ans  X'1. D

v A




Xs3C
X 4B

Q2 =fg 5 wEdr 2018 F WHAR & ar 8 e 2019 Fr Fi= @ = grm?
5t February 2018 is a Monday. 8t April 2019 will be a:

Ans w
X1
Wednesday

AR
Tuesday

grHaT

| Monday

F
Sunday

X2

W 3

Q3 FHi7 Hr pfa FAE # T wFHfaar & AT A @ 72

X%ﬁ—»@

Select the figure which does NOT belong to the group.

AW, e é
Ans (13

X22

X34

X1

Q.4 v RarsTelt st 5w T 4,200 F WtET 71T AT| SHH FFT 8% Fieay Y & & HH BT 1
TR T A1E ST TEA o gem?

An electric bulb was bought at ¥ 4200 .Its value depreciates at the rate of 8% per annum
.Its value after one year will be:

Ans X 1. T 3,684
< 2. 3,800
W2 33,864
K 2. T 3,746

Q.5 =T # smuifoT B Te2 2017 wioaFar fFg sdT Afsa 7 AT &2
‘Which Indian model won the Miss World 2017 contest held in China?




| ST 3TRIS
Zoya Afroz

2 AT AT
Novyonika Chatterjee

| A e
Manushi Chhillar
4. a:lg-
Alia Bhatt

x

v

x

Q.6 e fgadiwr frhe & dIF Qe ua® oI aTel AT fRehey Fi §7
Who is the only cricketer to score three double centuries in One-Day Cricket?

Ans m
XL =

Virendra Sehwag
x 2 Fehr diféer
Ricky Ponting
X fre e
Chris Gayle
v T o=
Rohit Sharma

7 =HH ¥ FieT TN TF JHAF TEdd g ?
Which of the following is a chemical change?

Ans v HerdeT T WeT glalm
1.
Butter turning rancid

x 2, 02 ¥ g@r 8% ST
Making dry ice from CO,

| oifesH a &1 TH/ g
Heating a platinum wire

4aﬁ'ga:r£_|;azﬁuaqw

Magnetisation of iron

x

x

Q.8




A & o st & P B de e 12

Select the option that represents the number of triangles in the given figure.

Ans Xl-ﬁ
< 2.10
x37
Va0

Q9 g # NvEdr F T F==aF viwg &= F=r
What is the highest percentage slab for GST in India?
Ans - X' 1.20%
< 2.32%
X 3.25%
v 4 28%

Q.10 T HATHS UITa I 1000 F Sgat 9T FToe T ST FEAT H 100 F T[0T HA |
ST TEAT W 10.06 30 71 4TcH Juitss #1a Hifere|

A positive integer, which when added to 1000, gives a sum which is greater than 10.06
when it is multiplied by 100. This positive integer is:

Ans x1,1
Vo7
<33
X a5

Q11 37eTgat # AN R TeH agd &g (shell) 7 SO g 2
Non-metals generally contain electrons in their outermost shell.
Ans 12373
1

1,20r3
5,6, 7ATS
2'5,5,?or8
8,9 3T 10
3'3,901310

x4_1013r18

10 to 18




Q.12 R 7w ar fwedt # ¥ A & 75 WFfa F Ao 7 977 aren wEr wiataw

e |
Problem Figure
X ]
-
Answer Figures
- -] L) -]
X a X | X X [
A B C D

From the given four answer figures choose the correct water image of the problem figure.

Problem Figure
X )
-
Answer Figures
- -] L] -]
X al X X X [
B C D

Ans xlA
X:B
XD
viC

Q13 gy Fr Brswr & yaer e A F e G S 82
‘What is the radius of an atom used to measure?
Ans X, TS FE=
Atomic number
x 2 TIHAIOTH AT
Atomic mass
qIATOES HTFHR
Atomic size
qIATTOSehdT

 Atomicity

v &I

p

Q.14 f 10kg FeadTar A fely a7 9T 20N o 91T A1 8, a o fbeen
grm?

If a force of 20N is applied on a body with a mass of 10kg, what will be the acceleration
produced?

Ans X 1.100m/sec?
< 2. 200m/sec?
< 3 sm/sec?
v 4 2m/sec?

O T FT T E:
The formula of Power is:
Ans m
p N qH3
momenturmy/time




| displacement/time

Q.16 ™% Fxg &I 10 HEHAET &I Biehel FaTs Aol T 3ol o § 20 AR H
Zh o @ S ¥ | sEe afafde e g e

An object is placed at a distance of 20 cm from a convex lens of focal length 10 cm. The
image is formed at a distance of:

Ans 5
x 115 AT

15 cm
Xz.sﬁﬁ‘#ﬁu
5cm
20 TEHRT
20 cm

10 HardreT

10 cm

v

X a4

QL7 o U erecl & S # & WA oG-I H F AT HH

TehiTer © 3T 9T
Select the word pair that is analogous to the given word pair.
Sankranti : Andhra Pradesh

Ans v HIUTH ;T

Onam : Kerala

ST . 9=E
Bhangra : Punjab

X2 o - e
Christmas : Christians
FUF © Fcadl T
Kathak : Uttar Pradesh

X2

X a4

Q18 14, 35 3RX 56 T F.H. fFaaT &7
The LCM of 14, 35 and 56 is:
Ans o 1. 280
< 2.140
<3210
< 4. 560




Q.19 Rl & S AfEse Py AT SIeeng & AEwe H adars M o
Under which Indian emperor's reign was the Jama Masjid in Delhi built?

+

Ans
x o S
Humayun
CIEES
Babur
X dE=
Aurangzeb

v . TETE
Shah Jahan

< 2

Q.20 =fy TegHifaras # Faiaehar 3 3N siewie &1 2 &, o voggiiferan Fiwmgs &1
mﬁlﬂ;@%’

If the valency of Aluminum is 3 and that of Oxygen is 2, then the chemical formula of
Aluminum oxide is:

Ans X 1. (AlO)3y 2
/< 2. AlO,
< 3. Al 0,
W 4 Al,0,

Q.21 & A #f gufy &1 & 3 g v & g FR F aEa & @ S A
FT TS &

Sree and Kavi are a couple. Siri and Samyu are sisters. Samyu is the sister of Kavi. How is
Siri related to Sree?

Ans xlwfnmm‘gtﬁrfﬁmm

Uncle
X2 TS
Brother
o T 981/ HEY S8
Cousin
v T sedr /|Ten/ SIS AT

Sister-in-law

Q.22 wfeagyug 5x% — 7x + 2 & e o 3 B &, Tl 3T sk 1 AT AT gl

If « & B are the zeros of the polynomial 5x? — 7x + 2 then the sum of their reciprocals
182

Ans X 1.

B3l =1 WAk WA ~1 rR|EA

Q.23




forafaf@a & & e i sas # FINVET FT & g2
In which of the following permanent tissues are the cells dead?

p 0

Parenchyma

RIoIARTSHT

| Collenchymas

TFeAFRISAT

| Sclerenchyma

TIAFISHAT

Aerenchyma

X2

V3

p !

Q24 Fwut # 35T T[T F gL FRud @ g

Testes are located outside the abdominal cavity in the:

Ans HARRMA
X"
Urinary bladder

Q.25 aF OIEr & BIET AT AId ity fSEw 72 i [0 FLe I Te quT 34 91 aial & |
The smallest number by which 72 must be multiplied to obtain a perfect square 1s:

Ans ?("1_4
X 26
<38
V2

Q.26 T A T Fr 3 15 oA A Fear ¥, Ry o gear € st 20
alIeT I 81 W% a1 98 AT’ Jsar g A 30 Rreey amr war
3T #, 7% after FgEar & 2 40 Rroiwier weer #1 ame fig A Atoe &
& Feae e g &

A man travels 15 km towards east, then turns right and travels 20 km. He then turns left
and travels 30 km. Finally, he takes a right turn and covers 40 km. The shortest distance
between the starting point and the destination is:

Ans 2 1. 50 km
v 2 75km
< 3.100 km
2 4. 80 km

Q.27

Question ID : 9864493624




Ans

T @ ool A wEdt ¥ Bl ¥ 3E v i i gir 80 Hrex § iy
mﬁnﬁrzu:ﬂuqﬁrmhmaﬁmm&ﬁéaﬁq@aﬁﬁm
HERTF AT 2

If an anchored boat is rocked by waves whose crests are 80 m apart and whose velocity is
20 m/s, then the time required by the crests to reach the boat is

X 1 0.5 @
05s

X 5 S
5s

x 5 02 ¥
0.25s

v 4TS
45

Q.28

Ans

_70 + 28 + (7-3) =7
_ 70 + 28 = (7-3) =7
X1-9
X2 -69

/<3 -105
v -863

Q.29

Ans

T qiET F WS 7 63 3% ured fFv AfF 84% 3w ureg FA F s A
qoreT fhaer 3 & i

In a test Paran secured 63 marks that was also equivalent to obtaining 84% marks. How
many marks was the test out of?

~< 180
X265
v375
x 485

Q.30

Ans

ANRBEFI RO RAA TR FFIE, BANC W30 R & qu
R ThS §, TR C AR A U A A 24 T F g A wHa §1 A, B R
C eI eT 36T 30 F1 A fhcel Bt & 9 W TS 82

A and B can complete a task in 40 days, B and C can complete it in 30 days while C and A
can complete the same task together in 24 days. How many days will each of A, B and C
take to complete the task individually?

X1 48, 96 3R 32
48, 96 and 32

, 32, 48 3K 96
32, 48 and 96

, 60, 120 3R 40
60, 120 and 40

, 40, 120 3R 60
40, 120 and 60

~<

v

~<




Q31 vEry fATeFT &1 AROT-FRNET e FiT g7
Which Indian American is the CEO of Adobe Systems?

Ans Xl_ﬁiﬁﬁ%ﬂﬁ

Francisco D'Souza

Mdel ARTIOT

¥ &3 2
Shantanu Narayen

Hex g
Sundar Pichai

T AT HT
4.

X 3.

X
Sanjay Kumar Jha

Q.32 FrETiey A1 AT et % ST HITRNRI3T 3 ATCTH W 71T Sieil sl JeTTeIT shgl ATl &
Reproducing new plants by cells instead of vegetative parts or seeds is called:

Ans & ey
v °
tissue culture

g fAsToT
2.9
regeneration
IELCEL)
X 3 EE'
multiple fission

gl fom=s
< 4
binary fission

x

Q33




T 7T gFder W FER H 3 97 & & & 1% A=ga & § s o
fafea & @)

aFaed:
T o &t AT §, A AT AT gaE QU AGT HU, o A T
# 3 T Al 7 & amer

o

AT

1. segarEe 8T i T g w1 T Al g
2. fRers g gl & e & A o A E, A O A T W
A& T B
_Con]:-;iid_er the given statement true and decide which of the given assumptions is (are)
implicit.

Statement:
A teacher tells a student, “if you don’t finish your homework, you will not be allowed into
the class™.

Assumptions:
1. Discipline is a way to create effective learning.

2. The teacher will be happy not to have a student who is not punctual in his work.

Ans " dol AT 1 [Afga g

Only assumption I is implicit.
1 3R 2 @t g =@ &
Neither assumption I nor IT 1s implicit.

3_aa—c|3rmm2ﬁ1%?r‘€|

Only assumption II is implicit.
1 3R 2 gt fafea &

Both assumptions I and IT are implicit.

x

x

x

Q.34 ng
==
=lf=1[=
afy T v BE # Fae v AR IR WS O TEE 9T S @S, ar
TIE gl
Rt
k==
=lf=1l=

If three groups could be formed using the given figures only once, these groups would be

e, (147), (236) I (59.8)
©(14,7), (2,3.6) and (5.9,8)




x o (147), (2986) 3R (5,3,8)
(1,4,7), (2,9.6) and (5,3,8)

x o (147), (6386) #HR (2,9,9)
(1,4,7), (5.3.6) and (2.9.8)

5, 247), (138) #R (5,9,8)
(2,4.7), (1,3.6) and (5.9.8)

Q35 10 em 3R 6 cm RA#AT I TF AT W WA GRAT A T FHAGEHS
T T formar T FT 60° §l AT F AT 9 $enieT # fraer
g

A rectangle having 10 cm and 6 cm as its dimensions was reconstructed to make a

rhombus having the same perimeter as that of the rectangle and 60° as one of its angles.

The area of the rhombus, in cm?, was:

Ans x 1. 24\@
<283
< 31643
v 43243

Q.36 FuTor THITATU 3T WFeIIT U8 WSS Fuy (FTHH) Fr 9gar Afen
HETETT HiT g7

Who is the first female president of National Association of Software and Services
Companies (NASSCOM)?

Ans aferar AR
p N
Vanitha Narayanan
SEeTe Y
3
Debjani Ghosh

xsﬁmrﬂwaﬁ'

Kiran Mazumdar Shaw
, Afeeerr Sifaaraa

X a4
Mallika Srinivasan

Q37




FH Fea-3Rpler T T L S & T8 WIT HTPhT H HWr G907 Afraa gl

Problem Figure A

C:/
Answer Figures

&) ci/4 é/c} q\:

A B C D
Select the Answer Figure that is the correct mirror image of the given Problem Figure.

Problem Fignre A

CV
Answer Figures

G| 4 e
AR AArARN

B C D

A
Ans xlc
<2 A
< 3B
VD

Q.38 R #T T G F W A H HfFT B vHr wnfaa @ e
‘What happens to the ammeter reading when the length of the wire is doubled?

Ans leﬂmam%

It increases two times
v, TE Il S E
It decreases to one half
| TE st 9 ge S @
It decreases to three-fourth
x . 7€ A T g

It remains the same

x

0% Frmfafla # & e g s ad &2

Which of the following has NO unit?

Ans et
1

Density

v arafées gdca
- Relative density




x&ﬁEMH

Displacement
HE]

Pressure

X a4

Q.40 miRtuT & 2w aw fbw REdt aw FEmat & e v Refda = @
LHS = RHS g SiTem|

6x4+2-=16
Which of the following signs and numbers should be interchanged such that for the
following expression, LHS = RHS.

6xX4+2=16

Ans 1 X F +, 2H 6 FA I
X with +, 2with 6

xéxﬁt4ﬁqmﬁw
X with +, 4 with 2

s X T+, 16 I 6 FHTA T
X with+, 16 with6

v X F +, 4F6FHIT
X with+, 4withoé

Q.41 e Oo HITT FT &S FT T, Tk 997 & IAT H HeT g1 afg o &
HEAT T & STEA & O g, o J9 B TH A Y oAy heell 87

The sum of the lengths of the edges of a cube is equal to half the perimeter of a square. If
the numerical value of the volume of the cube is equal to the numerical value of the area
of the square, then the length of one side of the square is:

Ans
1 108 ZFrs

108 units
, 36 e
36 units

‘,3_216 ZFS

216 units

x4 288 SHTS

288 units

Q.42 mi%zmaaa:mwamfr#aﬂwnﬁatawmmwﬁgm
T amr &7
‘Who is the newly appointed Governor of Bihar as of March 20187

Ans v e e afors
Satya Pal Malik

, fator <

Kiran Bedi

x




; g FAR el
Devandra Kumar Joshi

x4 H &Terg gmaT

Ram Vilas Paswan

x

Q.43 W ©TF (Problem figure) @i €T arw =X f&@&edr (Answer figures) & frer
v # Aleaead &1 sa13v & uea ©fF (Problem figure) 37 aR fFeedt & &
et oot 55 21

Problem Figure

-5

ERIcs

The problem figure is embedded in one of the four answer figures. Which of the four
figures contains the problem figure?

D

Problem Figure

-5

T () @
Ans XAl_B B C
X2D

X3 A
ViC

Q44 for=fafaT aedl & | Fla W Tcd TA Teal TNl e WHALHT & Ty
TS T 92 3] 3o el S TARISE TeaaT T §7

Which of the following elements has the unique ability to form bonds with other atoms of
the same element giving rise to large molecules?

Ans TeOAIT=TH
Koo 2

Aluminivm
ERE
Hydrogen
V3 Fra
Carbon

CIELEC

Nitrogen

X2

X a4

Q.45 Tarfer 7 3y & gw Iiaa= & FRUT v 9Fg & ffgd =+ Far mar g
The energy possessed by a body due to its change in position or shape is called:
Ans

Chosen Option : 1




GEEE
kinetic energy

xz_mﬁmﬁ

chemical energy

qTAT] A

<

X3

nuclear energy

| Tfas s

potential energy

v

4 a2 AT HH A AU TG N TAS H

E1, H2, K6, N24,

Select the missing term in the given sequence.

El, H2, K6, N24,
Ans X' 1.Q72
# 2.P120
< 3.Q720
v Q120

Q47 7% W wwaw =R &t AR fvtr Y & 5w = @ FiF @ aEe
o o8

T
ot # TEE F FROT TG ¥ AT THT W g ¥ 7F AL TG I

ECLICH

1. BAT 9§ HEE OF TG AT A g
2. gag =R ¥ T % =T AR A8 g

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:

Due to potholes in the city a large number of people are unable to reach the airport on
time.

Assumptions:

1. Reaching the airport on time is not necessary.
2. There is no other route to the airport.

Ans xlsrr-fraagm?m;rzé’rﬁﬁ%?r%

Neither 1 nor 2 is implicit




7> S 3A 2 fga 3
Only assumption 2 is implicit
Faer A 1 RAfgT 7

’ Only assumption 1 is implicit

| FeE 19 2 A e §

Both 1 and 2 are implicit

~x

x

Q.48 feam T =1E v GRER F AfdE ¥ @ aier § e Fo T 333650
8l

ar siirsy B & v aiffs 599 e &

Expenditure of Family

mFood M HouseRent M Entertainment m Child Education W Medical m Provident Fund

Expenditure of family- aTieni= @=r
Provident Fund- oifsr fr  Food- TWieZ erer
House Rent- & &1 famgram Entertainment- AT

Child Education- s==it % 9ar$ Medical- garsar

The chart represents the domestic expenditure of a family per month with total
expenditure being T 33650 then the annual saving for provident fund is:

Expenditure of Family

Enterta
inment

9%

mFood M HouseRent B Entertainment m Cnild Education W Medical M Provident Fund

Ans X 1T 4038
< 2. T 4083
X 3. T 48,465
W 2 T 43,456

Q49 v Foa H w5 3R wsfHal 1 Fgua 3:2 71 T IuReAa @it B Fa
wE foRaeT g weear 7

The ratio of boys and girls in a club is 3 : 2. Which of the following could be the actual
number of members?

Ans x 1. 18




V225
<316
K424

Q.50 T wefdia wea-fRT 9 3ok el # ¥ frelh v o wieafza ¥ &

Problem Figure:

2

Answer Figure:
A B C D

Problem Figure - weeT fors

Answer Figures - 3ca¥ 341351%&?

The following problem figure is embedded in one of the four answer figures. Choose the
correct figure containing the problem figure.

Problem Figure:

2

Answer Figure:
A B C D

Ans xlA
v2C
< 3B
X 4D

Q51




Sugar- R Wheat- 31§ Rice- =ITael Others- 3ed
femm = O1$ = FT Fue B AE AgER F o F gefer 7

ofg et $T YgEr 6000 = &, & Fo YeER = gl

The given pie chart represents the annual yield of certain crops, in tons.

If the yield of sugar is 6000 tons, then the total productionis _ tons.
Ans X 1.30000
v 2.27000
# 324000
X 4. 25000

Q.52 fadlr sefegy Tg #, fega F=i & ofafda &= arh w= @i @ &2

In a hydro-electric power station ultimately which energy is converted into electrical
energy?

Ans EC )
p N
Mechanical energy

X 2 fufas w=r
Potential energy

| FSHT F=
Heat energy

| et
Kinetic energy

~x

v

Q.53




aifear Ay St oF €}
w7 |9 |gfler |9d | afewe | sew
.
1 A 40 | 37 | 35 27
2 B 6 26 | 76 86
3 C 83 | 71 4 21
4 D 1 7 3 11

The party that won the least number of seats is

Parties and seats won
Serial | Party | South | East | West | North
No.
1 A 40 37 35 27
2 B 6 26 76 86
3 C 83 71 4 21
4 D 1 7 3 11
Ans o 1D
X2 B
x50
X4 A

Q.54 =r=fr o 7z 3 30% T FRF &1 AT &1 AT ¥ A HT TS Fohetey Flerers FH T &=
T s s T A P gRE A @

The price of the sugar goes up by 30%. By what percent should Sita reduce her
consumption so that the expenditure does not increase?

Ans

v 12310
13

. 1
2. 22~ 04
~ 5%
/< 3.23%
< 4229%

Q.55 T& 160 HieT ol & 740 T o T @ 40.5 Hhs H IR FA &1 & A
afS =Far &7

A 160 m long train crosses a 740 m long bridge in 40.5 seconds. What is the speed of the
train?




Ans

. 80 fepciaeT ufd e
80 km/h

, 85 ferelidex ufd wer
85 km/h

x5 75 feheiafiex afd wer
75 km/h

. 70 fereitTey uf wer
70 km/h

X

Q.56 & 7% FFa W famm Y ¥t 97 F & & @ Turomdt F & Fi= @

Ans

A=A 2

gfFm:

2

T w ol sl T F R agd s R aga @
mwgm%,ﬂgm%mﬁﬁmﬁamﬁ#ﬁvzmw
T F T Fzar g1

TEYUROm:

N

1. TR FHAH HEGR B Feg AT TET
2. TR FAAE HEGE  FT U E A T

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

A government servant sitting idle tells a visitor to come after 2 weeks to get this certificate
attested, as he is very busy and have a lot of work.

Assumptions:
1. The government servant wants to help the visitor.
2. The government servant is expecting a favour from the visitor.

ereT THURT 2 safRa ¥
Only assumption 2 is implicit.
§ Faa qaureT 1 dafafea g
Only assumption 1 is implicit.
1 3 2 F RO st
Both 1 and 2 are implicit.

4;r;fr1sﬂnr€rzaiaﬁﬁ?r%|

Neither 1 nor 2 is implicit.

v

x

x

x

Q.57 fagai (- 5, 5) 3R (7, -3) e TW-TUS F IANF ¥ & 31 &F 3wgaa A

Tranfeg 2= arer ﬁg F forden= T &2
The coordinates of the point that divides the line segment joining the points (- 5, 5) and

(7,—3) internally in the ratio 3 : 1 are given by:

Ans K 1. (_ 2’ 3)

V24, -1)




X360
Sa(1,1)

Q58 1 AT 2020 Fr FT T T M7
What day would it be on 1%t March 2020?

Ans m
p "
Monday

, SIECIEy
Saturday
UFAR

~x

X 3
Friday

v FEEr
Sunday

Q.59 r=fafEa d@en &, Tod REd (?) & T W A ey HeW F T894 FL

D,GK 2,V

In the following letter series, one letter is missing as shown by the question mark (7).
Select the missing letter from the given options.

D,G.K, 2,V
Ans «’1_ P
X 2R
XL

X aM

Q.60 AT TIAT 3H F g AY T A F I/ F IS F e &l I
9 uge T A 3H AY I9Y OF FT AF T IR 996 9 F 37 F WeT geh
Af IoAT 37 |

Two-thirds of my current age is the same as three-fourths of that of one of my cousins’.
My age three years ago will be his age four years hence. My current age is years.

Ans x 1. 72
v 2 63
< 354
< 481

Q.61 250 T A1 VT faera forme see 1 AMIS% @, AN e & v anaTs
TIFIA T AT FM:

The amount of glucose required to prepare 250 g of a 5% solution of glucose by mass is:

Ans 125 9MH
KL
125 ¢
12.59MH
2

v 125¢g




509MH

< 3
50g
259TH
X a4
25¢g
Q.62 =iz & 3§ ¥AF 9& A Tedl F AT ISEF ATl HET WROT H
satEyd famar om
Newlands arranged the then known elements in his table of octaves.
ans X 163
v 2 56
< 358
X 417
Q.63 faw 7w FoF W AT F R 9w F F Ffef@s sy 7 § sl 7u=
T HT Feal & & OIT AT F
X &7 AR g F Frder TET wEem?
FYA:
1. X it Y @&t vy faw # 8 = 7w w E
2. X EAR T F Y ¥ 5 U B 7o we £
Consider the given question and decide which of the following statements is sufficient to
answer the question.
How long will X take to build the wall?
Statements:
1. X and Y together can build the wall in § days.
2. Xtakes 5 days more than Y to build the wall.
Ans 2(" 1.

f&T T 99T @1 Scal & F TIT 2 kol qAIST §, S|tk 1 3fhell 9ATST g
gl

2 alone is sufficient while 1 alone is not sufficient to answer the question.

v &3
T T WoT T FoaT & F AT 1 30T AT §, a2 3RheT gAY 4T
gl

1 alone is sufficient while 2 alone is not sufficient to answer the question.

X 3.

Ru sv wed e & F o ar ar 1 a7 & 2 w3ea g
Neither 1 nor 2 is sufficient to answer the question.

X a4

T 71T o7 F 3R &7 F Fw 1 3k 2 P =T T

Both 1 and 2 are sufficient to answer the question.

Q64 2 waa y@en fhw AgedT H e &7

Ans

In which continent is the Andes Mountain range situated?

AT
Ko ®
Europe

X2 ”;

Australia




75 af&or 3@AfET
South America
3SR

Africa

X a4

Q.65 wﬁymmﬁwﬁmﬁm@#mmw
foer$ #1 wRIR w9 & Wy e i T FErE F g 1w e
The base of a triangle is one-third of the base of a parallelogram having the same area as

that of the triangle. The ratio of the corresponding heights of the triangle to the
parallelogram will be:

Ans X'1.3:2
<241
<33:1
vig

Q66 rmfafem # & fFw fesr 71 - & S5 W 3 we gem

Which of the below fractions when added to g gives 37

Ans 1
X -3
2
K2z
3
2
¥ &3 1-

11
4. =
2

Q.67 YA 2018 TF 3UeRY AFN F FFOR, HI§ F aedhee & ‘Hus sEaw
FT AfF FiT &7

As of February 2018, who owns the Mumbai-based IPL team ‘Mumbai Indians’?
Ans « . ﬁ?.“-‘ziq:r E:E@H
Reliance Industries

x , TEFE 3% sfEar
Times of India
X2 AT F==a

Amitabh Bachchan
X 4 AW Wled

Shah Rukh Khan

Q.68




faw 1T Joa=al T T A L Tl AT TF a9 F F FE (@) Feed
Ferdedt F & SFER F TREI §F § HTEOT (T B) F

TEFAS:
Tt FaAe AT 7 myfes R gid sueeyr § R o ama F o
g o 3 g

o

1. Rfecr dwfost & B soa & BT 39 =& o siv siwet
F T F F F= F Ow F@r I miww
2. 99 e & ®H H & OT WER B A F AMgC]

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the information given in the statements.

Statements:

Though there is advanced medical facilities available nowadays, still child mortality in
India is high.

Conclusions:

1. Medical scientists should be asked to give up their job and work as doctors to save
lives.
2. The Government has to make efforts to decrease child mortality.

e 1 AR 2 e ST e
Both 1 and 2 follow.

|1 3R 2 2= AT A T E
Neither 1nor 2 follows.

a0 SRy 1 SERoT T g
| Only conclusion 1 follows.

AWﬁwézwm%l

Only conclusion 2 follows.

x

v

Q.69 ABCS$+#DEF&=?GHI!2*@ %A = 39aT & gv, o e # Toa s
ey

ASD a @

Using the sequence ABC$+#DEF&=?GHI!2*@, fill in the blank given in the following
expression.

ASD____ G'@
Ans Jl &
X 29
K3 =
X4 F

Q70 [63 —(—3){—-2—-8-3}+3{6+(-2)(—1)}=?
[63—(-3){-2-8-3}=+3{64+(-2)(-1)}=2
Ans X1 0
<23
v




< a2

Q7 T H ¥ i @ Oier Tostell F aes A6l 87
Which of the following solutions do not conduct electricity?
Ans WfEgs gEgeaEs e
p N

Sodium hydroxide solution

oo ® e

Glucose solution
X 3 vfafes vfas oo
Acetic acid solution

x4.§@a$ﬂﬂmuﬁ?a’l?~r

Hydrochloric acid solution

Q72 ‘Gl Hierw ST A R TE & dws Fe 2
Who is the author of the book Lone Fox Dancing: My Autobiography”?
Ans v e ales
Ruskin Bond
| Houfy T
Arundhati Roy
o osT 2
Shobha De
, A ATIaTer
V.S. Naipaul

x

x

Q.73 & T &, afy SKYJACKING #r AJYKSGNIKC forar =T & o st 75 &

CHEAPJACKS &I &y forar smeem?

If in a certain code, SKYJACKING is written as ATYKSGNIKC, then how will
CHEAPJACKS be written as in the same code?

Ans o 1. PAEHCSKCAJ
< 2. PAAEHCSKCAJ
< 3 PAEHCCSKCAJ
<+ PAEHCSKAJ

Q74




Ay & 1 TR F gAY F BC FH ¥ wF o dnd amt &
HTRTFAT gefr?

1 ] K

A L B
E|F

HM G
D C

‘What is the minimum number of straight lines required to construct the given figure?
1 J K

A L B
E|F

HM G

ans of 117
X214
X218
X416

Q75 Frefgreged, N 3R F@ F o7 I FE W AT 22

Complete digestion of carbohydrates, proteins and fats takes place in the:
Ans X . m ﬁ
Oesophagus

9 H
Stomach
ol H 9 A
Small intestine
4. ﬂﬁ' a.ﬁ%r #

Large intestine

X 2

"

x






